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Total Con Lab Lib 
Dem

Male Female 18-24 25-39 40-59 60+ ABC1 C2DE London Rest of 
South

Midlands 
/ Wales

North Scotland

Weighted Sample 669 238 215 62 326 343 80 171 231 187 373 281 86 219 143 164 58
Unweighted Sample 669 233 196 74 304 365 38 164 249 218 444 210 83 229 126 121 110

% % % % % % % % % % % % % % % % %

In his memoirs Tony Blair blames Gordon Brown for 
Labour's defeat in the 2010 election. Do you think Blair is 
right or wrong to place the blame on Gordon Brown?

Right - it is Gordon Brown's fault Labour lost the election 36 49 28 51 39 33 32 35 41 31 41 30 33 38 34 40 22
Wrong - an alternate leader would still have lost 51 44 59 43 52 51 30 55 48 61 48 54 54 50 52 45 69

Don't know 13 7 13 6 9 17 37 9 11 7 11 16 12 12 14 15 9

Voting intention Gender Age Social grade Region
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